Chapter 5A Review February 24, 2025

Today's Plan:

Learning Target (standard): | will use the fundamental identities, the even
and odd properties of trigonometric functions and the complementary angle
theorem to evaluate trigonometric expressions.

Students will: Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.
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If tan® = 4, find the exact value of: 5
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If csc® = 4, find the exact value of:

sin LI
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Name the quadrant in which the angle lies. Why?

secd<0 & :§ X (-) (-H]
sind>0 sinp=L iy |\ &
) K

Since r = «/x2 +y2 , ¥ is always positive. In order for
secO < 0, the x-value must be negative. In order for

sin@ >0 , the y-value must be positive. From above, the
x-value must be negative AND the y-value must be
positive. This happens in QIT.
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Find the exact value.
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Find the exact value.
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Find the exact value.
c0s35°sin 55° +sin35°cos 55°
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Find the exact value.

tan 20° — cos70°
cos20°
Lon 207 - ( S (%0'70‘)3)
(0520°
0 910 20°
ton 20 -
f Co>20°

60 20- <+0x\ 2003
0




Chapter 5A Review February 24, 2025

Convert the angle to decimal-degrees.
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Convert the angle to degree-minutes-seconds.
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Convert the angle to radians.
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